x of] 3t oha}4] 3x3y 4 by —xz+ 9xy — 4 ol thsto] o B 5
?

O WEA o2 st
3yx® + (9y — z)x + 5y — 4 °|th,
© o820z Helshy
5y — 4+ (9y — z)x + 3yx3 o]t}
© o140 chAle x of B 3 Ao,

@ »* 9o AgE 30t

ORONGE) 20,606
® 0,0 @®O9,06,6,06
® ,0,0,3, 0

Q O
—C



@ 2x3 -18x-10
@ 2x3 +12x%2 +18x+ 10

B 2x3 —12x2 +18x + 10

AA A, vE AAB=2A+ B, AYB=A-3B

ot

@ 2x3-12x2-18x-10

@ 2x% 4+ 12x%2 4+ 18x— 10



20 (x) 7] : %R
~0 ()M %R

: §Q(x)‘4"j17*] " 2R

@
@

S



4.

P-x+1=04 1, x° —|—

D -2 ® -1

L o) grey

® 0

@ 1






f(x)E x-2, x-3 22 Yz wfo] Yyz|7} 24z} 3, 702kl
o, f(0)E (x-2)(x-3) 22 Uz oo Y27

@ 3x-4 ® 4x-5

B 6x-17



FA f(x)E x- 322 YRS 9] &Kol Q(x), A7} 10]1L,
0(x) € x - 22 Y32 1o w27} 20|t} f(x)E x-2E
948 o] hialg ok

LFH—V.L

@D 1 @ 2 ® 3 @ 4 ® 5



Q® (»?

® (x?

+2x-1)(x*-x-1)

1)
+x+1)(x%-2x+

@ (F+x+1)(x2-x+1)

@ (2 +x-1)(x*-2x-1)



9. *-15x2+10x+24 = (x+a)(x+b)(x+c)(x+d) @, a+b+c+d
of 3he Fe?

@D =5 @ 0 3 2 @ 3 3B 5



10. x+y+z=1lLxy+yz+zx=2,xz=39 M, (x +y)(y +2)(z + x)
o] 7Le?

@D -1 @2 -2 3 -3 @ -4 B -5



) +a(3+2) + 28 AR 9 571 A, o 1,
= VA1)



1-1

12. A:1+i

Ao, 1+A+AZ+ A3+ ... 4 A20050] ZFo9

@© —i @ 1 3 0 @ 1+i G 1-i



a, poll thote] 4o & aof =aB + (a+p)i 2 &,

T Bag
A (1+i)oz=1& TFA7= 54529 #@2? (B, i= V-1)
@1 @ -i Qi

B —1+i

@ 1-i



3+1 .
14, x="""Qu p=2¢ -2 - 5r +3 | AL oW

@ 2+i @ 2-i ® -2+i

@ -4+ B 44+



1 1 _
15. at :_F%ﬂ],|a—1|+|a|+|a+1|’%71]"ﬂ'6]
Va a
SFH?

i)

D —-a+2 @ -a ® 2
@ q B qg-2



ol
ofie
Njo

o] HAIA thg

—09 %

@a#29 ", x=a

DO a=0¥¢ ", x=2

%

1=}
T

’

o

1

OO

a =

@

Jo
il

—

o]



Al x2—4)x -5

70
)

HFZ

1%

17.

® =10 B -15 @ =920 B =95

@D =5



® 3 B3 4 @ 5 B 6

@D 2



D 2+3x-7=0
® xP*+7x-3=0

B 2-3x+7=0

< FotH? (&, o] AsL 1

@ x2-3x-T=0

@ x*-7x+3=0



¥ +ax+ (a®> +2a-3) =09 F o] A2 ohE FS & ZE1 oF o]
So] AUGRAT A2 1) A% 8] WIS FohE?

1
D 0<ax<l1 @§<a<2 ®1<a<?2

1
@ 2<a<3 @—§<a<2



21.

Ty = a2 + hkx Q) DI A y = —x + 40 A of, F4 k9
27

3 5
@1 @ 5 ® 2 @ 3 ® 3



,]

—ax—i—b-J
=7

=
- A&

oA
=

94



23. 434147} 1<x <29, o)A g4 y = x2—2xta1 9] Hagto]
ole} g}, o] u, o] §H4o] HTgLe?



y=(%-2x+22-4(x*-2x+2)+1 9]
mO]E}QUH,MXm_ng};%O

3 7 @ -9 G —18



25. x )’7]'/?2]—/!\‘%] o, 2x2—8x+y2+2y+69,] e Ed Ry

®—5 @—3 @_1 @1 ©3



sholat.

.__TL

S
H=

B-x24+x-6=0




27. AR 62— Tx-5 = 02 A 2L 0. By T ], (1-a)(1-
A1-7) ° W

@D -15 ® 16 ® -16 @ 17 ® -17



28. H A xof disto 7

D -2 ® -1

=33

O

k?>x+1 > 2kx+k7}

3 0 @ 1

4



29.

RS54 (a+b)x+(2a-b) > 02 817} x <
9 sh& F-shw?

1
®x<—y @ x<-=

1
@x)—g @x>—1

19, 52 ax+b>0



e
Hhu

oy

2-x-6<0
452 -8x+3>0

M ™

o a
Vil VB vy v
= = = = =
Vil VB vy v
NN & ™M ,23 | [N
] W | N A
M oH M ow W
— N NN —
Vi VI VI VIV
S S N
Vi VI VI VIV
a o (@] [aN] a
_ _ _ I I
© Q0 © @ ©



